Chem 101 

Worksheet for Oxidation and Reduction Reactions.

1. Based on the activity series which of the following reactions will occur?  Identify the oxidizing agent and the reducing agent in each reaction that will occur.

a)
 NiCl2(aq)   +   H2 (g) 2HCl (aq)  +   Ni(s)

2HCl (aq)  +   Ni(s)
NiCl2(aq)   +   H2 (g)

Reduced
Oxidized


Oxidizing
Reducing


Agent

Agent

b) 
H2SO4(aq) +   Fe(s)
 FeSO4(aq)    + H2 (g)

Reduced
Oxidized


Oxidizing
Reducing


Agent

Agent

FeSO4(aq)    + H2 (g)  H2SO4(aq) +   Fe(s)

c) 
ZnBr2(aq)   +   H2 (g)  2HBr (aq)  +   Zn(s)

2HBr (aq)  +   Zn(s)
 ZnBr2(aq)   +   H2 (g)


Reduced
Oxidized


Oxidizing
Reducing


Agent

Agent

d) 
2AlCl3(aq)    +   3Ni(s) 2Al(s) +  3NiCl2(aq)


2Al(s)    +  3NiCl2(aq)

2AlCl3(aq)    +   3Ni(s)


Oxidized
Reduced


Reducing 
Oxidizing


Agent 

Agent

e) 
2Ag(s)  +  Pb(NO3)2(aq) AgNO3(aq)    +    Pb(s)

AgNO3(aq) + Pb(s) 2Ag(s)  +  Pb(NO3)2(aq)


Reduced
Oxidized


Oxidizing
Reducing


Agent

Agent

f) 
Cr2(SO4)3(aq)  +   3Ni(s) 2Cr(s)  +  3NiSO4(aq)


2Cr(s)  +  3NiSO4(aq)

Cr2(SO4)3(aq)  +   3Ni(s)


Oxidized
Reduced


Reducing
Oxidizing


Agent

Agent

